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DB3.1 iR 24

DB3.1 Electroporation-Competent Cell B4

PEEES: ML-G27022

REZf: -80°C
P2 kS 5x50ul  20x50pl
T
#x= H O #

F- gyrA462 endA1 gIinV44 (sr1-recA)mcrBmrr
hsdS20(rB-,mB-)ara14galK2lacY1proA2rpsL20(Smr) xyl5 A leu mtl1

fj & % B
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ik, FEREH TS E5H cedB R TR A (f] GATEWAY
System vector) , MM EAEEE ZPilk. MLBio High5TM #7%1 DB3.1 &% %
A LHF R L EHIE, & pUC19 Kb 2% >108 cfu/ u g DNA.

®E W MW

1.0.1cm LT AR A g Bl AP 22 BB T T oK AR B 5 08, Fp 3L
TRy, 1EE 508, (EARFTE R, fr QIR TR UK, Sk
UK, FARARTRES KR 0.5 em DG flide M, UKAEFE 5 r8h e i .

2.01-80°C {R17 1) DB3.1 Bz St A vk 5 4r8h, frdLmif, TIAH
(K] DNA (5K BOERE0) 3 T4R3T EP & RIS, WGBS, L]
AUk,

A. MEFHEACEMEH 1 nl10 pg/ vl BIXHEFRL pUC19;

B. X TR Y, 15 ZEEUE DNA EinAEE TE 2% (10mM
TrisHCI, pH7.5;:1mM EDTA)E &, DNA #&Z RNt 100ng/ vl, EFAAENL 5

ul/50 pl S22

3.0 200 u IR ZZAS-DNA RSV DU 2 i Af gy, @ f ™A, &
EMaE.

AR, KBS C=25 uF, PC=200 @, V=1.8kV (It BioRad
HAENAERE S48, Wi R DAEERI SR |, H A EH A PadE R B
FerEd, e S RS A UK
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5378 M HEEAMFIIAN 1000 vl AEHIAERALEE IR S.0.C., RAEHK
32 50ml &, HH 1ml SOC 82y M H 44 3] 50ml &, HEh
Jin3ml SOC #5774, 37°C, 200 rpm £ 75 60 75t

6.5000 rpm B0 — 4P, EEJSEC 100-200 wl A0 RIS A N PTA ZE )
S.0.C “Fik b (HEERK, EHEWEHIEEHE®R 15cm H53E10L 2-5
M) o BPHRBIE T 37 CRFM LR FR &

TR E W

1. 0 DNA BHRFUA B K F B2 SR A1 1/10.
2. HLEFIECZ SN0 ON HE T AR N G AR SR, AR S B NSO R XU

3. i DNA AAIBFAERL, OB, SEMREMBETG RN, B ReR 2R

k%

4. WA AR TR L, RS A A AT DNA BV AR
HEL AR I TR PR S o

5. A AR OB BB IR R AL RICR, HERE A e A ORE S U S 42 B
JFRL. BORLIE R — 1, FALRR TR — DRI

6. N TIEEYEAL, BUFFALHT CBETIE DNA J5 & & TE 0l (10
mM Tris HCL, pH7.5; 1 mM EDTA)E & 7=¥), {RiE DNA #REZEANELE 100 ng/
R B R = M BOd AR RS =) 23 B AR AL R, IOk ik
HEL ) XU o
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7. NFURLES AR AR, IRV S A 40 M bf kG Do, LA B Jyad ok
AR, PRARA AR o FE A i VA B8 1 R B 43 ) P A Ll ¢
28 T IR R

8. B2 MM R L RAFAE-80°CLLR, miT-80° Cillifili /7 = S B AL RCR

= M



